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2.

4.

Frafefiad U9l & 3 Uihd § Us ug ° G-
(Answer the following questions in Sanskrit in one word.)
(F) o O foh gesfa?
33 EA2 |
(@) arere: e feemerd st ?
o= OGS
I ISEE Wﬁﬂﬁﬁﬁ?
Fe - IC:ML\\Q\’Uf5
(F)  T9: HE: S ToBfa ?
LN\ SN

Jo— [HEG UL
(%) HIHR: WWW?

ST e
(F) SfcAer: e A9 T ?

N NG R NS

ares o fu T v o agelf favfe omes e wIE WiRe-

(Fill in the blanks with fourth declension of the given words.)

@) uFE: o s Fesfd | (ATE)
(@) STAUH: T I A | (BH)
() ST — SO Se Tesfd | (WH)

T STengwy Had | ()
sfea v ¥ figa wm wfte-

(Fill in the blanks with appropriate words.)

(F) ST G IS H Al
(@) S T IS ch M 3T |

(‘T) T TorR s Ao =sf
34T TRTET W

(@) cp @}ua_u: 3TN TS |




5. MHRIEd o @Al chl T chllstl-
(Complete the table.)

Tt farvfer— e foaem
TeTehr TTIEWL. ~Tteh 1
A /A i B S G it oy s
@ RELSIRR T goiey:
T IS ESRENEIY: SRS R S o i

6. fua fameu sifeu-

(Choose the correct alternative.)

() T F A (WW)

(@) fwamEi & g WW)
(M A TSH S A (WITLW)
wWHRC (g, T
(8) fE*feu (g ﬁ:@-qqm)

7. e oA -
(Translate into Hindi.)
(F) ST TSI I TTesf |
5= AZH FAT B oS I g |
(@) SA: Y9 37 ST~ |
— =S O o o~ '
Fe= A GHA oh o T3NS 3 |
()  ISSH: WIS Jaf|
NCLaR S FToC; P v R\ ro 7y gy ey %ﬁr\%\
(%) m Wgswﬁri
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( Answer in one word in Sanskrit.)

(F) I T2 Ll

(@ TmF: friesfi? 3o = eI

(M T T Wafa? Jo- NI

(%) e T N2 So = HSII

(8) cTsh: LT il e ? Jo~ HFH L
() P e R waer?  Fo = AT

SR Vi BT e @ at off e

(Fill in the blanks with appropriate words.)

F) TF: I T

® F: IATTT st

() e SeRv: gsoTor— s
(%) TEIH U ateT qafd|

() %‘?}WW Tafq|

® T I g

TR Wt ¥ o T

(Write the genders of the underlined words.)
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N -+
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N 8 UM geuifor sy oot
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5. fuw QEaE Qe SHIg-
(See the pictures and make sentences.)

. » -
B N FS TR B 1 (e m v s

[ ’ <
T FE AT SRS S 5B |

& 1 W smawr sitvu-

(Translate into Hindi.)

(%) T gER AR 3o~ A% U X PRAT R
(® SISt gemainT gt RS

() 6 WH SFTeBfT| o= O T, O AT T
(W) T gy gt =0 W e
(3) ST I SITesf) = i |
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